
https://www.leads4pass.com/1z0-082.html
2024 Latest leads4pass 1Z0-082 PDF and VCE dumps Download

 

 

 

1Z0-082Q&As

Oracle Database Administration I

Pass Oracle 1Z0-082 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/1z0-082.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

1Z0-082 PDF Dumps | 1Z0-082 Exam Questions | 1Z0-082 Braindumps                                1 / 4

https://www.leads4pass.com/1z0-082.html
https://www.leads4pass.com/1z0-082.html
https://www.leads4pass.com/1z0-082.html


https://www.leads4pass.com/1z0-082.html
2024 Latest leads4pass 1Z0-082 PDF and VCE dumps Download

QUESTION 1

Which statement is true about aggregate functions? 

A. Aggregate functions can be nested to any number of levels 

B. The AVG function implicitly converts NULLS to zero 

C. Aggregate functions can be used in any clause of a SELECT statement 

D. The MAX and MIN functions can be used on columns with character data types 

Correct Answer: D 

 

 

QUESTION 2

Which two statements are true about date/time functions in a session where NLS_DATE_FORMAT is set to DD-MON-
YYYY HH24:MI:SS? (Choose two.) 

A. CURRENT_TIMESTAMP returns the same date and time as SYSDATE with additional details of fractional seconds 

B. SYSDATE can be queried only from the DUAL table 

C. CURRENT_DATE returns the current date and time as per the session time zone 

D. SYSDATE can be used in expressions only if the default date format is DD-MON-RR 

E. SYSDATE and CURRENT_DATE return the current date and time set for the operating system of the database
server 

F. CURRENT_TIMESTAMP returns the same date as CURRENT_DATE 

Correct Answer: CF 

 

 

QUESTION 3

Which three statements are true about the DESCRIBE command? (Choose three.) 

A. It displays the PRIMARY KEY constraint for any column or columns that have that constraint 

B. It can be used from SQL Developer 

C. It displays the NOT NULL constraint for any columns that have that constraint 

D. It can be used to display the structure of an existing view 

E. It displays all constraints that are defined for each column 
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F. It can be used only from SQL*Plus 

Correct Answer: BCD 

 

 

QUESTION 4

Examine the description of the CUSTOMERS table: You want to display details of all customers who reside in cities
starting with the letter D followed by at least two characters. 

Which query can be used? 

A. SELECT * FROM customers WHERE city LIKE `D_%\\'; 

B. SELECT * FROM customers WHERE city = `%D_\\'; 

C. SELECT * FROM customers WHERE city LIKE `D_\\'; 

D. SELECT * FROM customers WHERE city = `D_%\\'; 

Correct Answer: A 

 

QUESTION 5

Examine the description of the BOOKS table: 
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The table has 100 rows. 

Examine this sequence of statements issued in a new session: 

INSERT INTO books VALUES (`ADV112\\', `Adventures of Tom Sawyer\\', NULL, NULL); 

SAVEPOINT a; 

DELETE FROM books; 

ROLLBACK TO SAVEPOINT a; 

ROLLBACK; 

Which two statements are true? (Choose two.) 

A. The second ROLLBACK command does nothing 

B. The second ROLLBACK command replays the delete 

C. The first ROLLBACK command restores the 101 rows that were deleted, leaving the inserted row still to be
committed 

D. The second ROLLBACK command undoes the insert 

E. The first ROLLBACK command restores the 101 rows that were deleted and commits the inserted row 

Correct Answer: CD 
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